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0 0400000000-2 1,201,898,000 1,201,898,000 493,136,000 108,820,026 -46,186,709
SRR A 0 446,949,291

108 0423430000-2 1,201,898,000 1,201,898,000 493,136,000 108,820,026 -46,186,709
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0 0423430200-1 256,976,000 256,976,000 105,125,000 25,630,250 1,361,628
A KGRI 0 106,486,628
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04 0700000000-9 71,000 71,000 20,000 224,075 443,645
FAEEUTA 0 463,645
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02 0723430106-0 10,000 10,000 10,000 0 731
GEEYON 0 9,269
02 0723430600-6 40,000 40,000 10,000 3,000 4,247
REEYIEEE 0 14,247
07 11000000002 12,869,000 12,869,000 992,000 1,711,238 1,622,507
HAth A 0 2,614,507
120 1123430000-2 12,869,000 12,869,000 992,000 1,711,238 1,622,507
EEH It A e s E 0 2,614,507
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0 1123430909-8 12,869,000 12,869,000 992,000 1,708,221 1,587,212
HAFETEI A 0 2,579,212
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